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ip to find x. -

Solve for x.
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- Decide whether to use sine, cosine, tangent, or the Pythagorean relationship to find £C .
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. Decide whether to use sine, cosine, tangent, or the Pythagorean relationship to find b.
Solve for b. )
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Decide whether to use sine, cosine, tangent, or the Pythagorean relationship to find x.
Solve for x. —
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. Decide whether to use sine, cosine, tangent, or the Pythagorean relationship to find x.
Solve for x. 3 5 | )
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. Decide whether to use sine, cosine, tangent, or the Pythagorean relationship to find «ZB.

Solve for«B.
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. Decide whether to use sine, cosine, tangent, or the Pythagorean relationship to find a. ) . i )
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. Decide whether to use sine, cosine, tangent, or Pythagorean relationship to find £C.

Solve for £C.
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